4 3 ?
@ 2022 TE Connectivity. ALl Rights Reserved. | REV \ S \ ONS
P LTR DESCRIPTION DATE DWN APVD
Al ECR-22-150935 I3SEP2022 | DHC | KJ
D
S PARTS LIST
Q | TEM PART No DESCRIPTION QTY
S | |- 1882204~ Capacitor Bracket |
: ? [-1201398-7 VCHV-CAPACITOR-9613
£ 201 | CARTON
- 3 | |SEE NOTE 2
<i | -7120994-3 BOX, MCM (L) TYPE
§ 4 |- 18821 14-7 M4 Nyloc Nut St.st.
E 5 |- 18821 12-7 M4 Full Nut St.st. 3
- 6 |- 18821 18-2 M4 Spring Washer St.ost. 3
2 I |- 1882181-2 M4 Washer form A - St.s1. 5
- 8 | -1882176-6 M4 X 10 SHCS Stst 3
Z 9 | -1882176-8 M4 X 16 SHCS Stst
§ NOTE: I . ITTEMS | TO 2 & 4 TO 9 TO BE PACKED IN CARTON ITEM 3
Z 2. BEITHER CAN BE USED BASED ON AVAILABILITY.
Be
TE PART NO. DESCRIPTION
o | -2004364- 1| KTHY-CAPACITOR_KIT-289
OENOVZ200 T
THIS DRAWING IS A CONTROLLED DOCUMENT. DWB/WE KENNEDY -
e SNOV200 7 —- TE TE Connectivity
DIMENSIONS: OTTHOELREWR\ASNECESSPEUCN\LFE\SESD- APTVD MO O8NOVZOO7 NANE
mm ' J C POLE KTHV-CAPACITOR_KIT-289
0 PLC 4- PRODUCT SPEC B
A @Gz i P - -
3 PLC 40 013 APPLICATION SPEC
4 PLC +0.0001 SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES +- -
MATERIAL FINISH WEIGHT - A300779©:2004364 -
CUSTOMER DRAWING I e A

1470-19 (3/13)




